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If h'(x) = n/h(x), wheren > 0, n > 0 & ch'(x) =nyh(x) Sy

and h"'(x) = 18 at a given point x, «x Blaea 4dadi aic B''(x) = 18 3
find the value of n. M Aasd aagl
3
3V2
R
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Find the derivative of tan~!(x?). dan~1(x?) dida syl
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Find the equation of the tangent line
to the function f(x) =+vx+ 3

atx =-2.

y=4x+2)+2

e B R R R R R R R R O O T

flx) =vVx+ 3 Al laall dlslas sagl

J.x="'"24:‘l




Iflg(x)—4| <2(2—-x)istrueforall isaa|g(x)—4| < 2(2—x) sy

values of x, evaluate Erl_?'zly{x}. dim g (x) gl o X b paal
ik
0
Z




3xtimat-2x7-1 3xtmat-2x3-1
Gi that — ¢ — et LR K|
e ,lcl_,lg 2xt4+2x3 —x 4, chl—!?o 2x442x3—x 220519

Find the constant m. N CulE) Aad aagl
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Evaluate lllla (Jﬂ—‘)i if it exists, g o .Iing (ﬁi—‘) dagh a5l
x> X~

x

1 :
1 "
L]
1
4
Bigaga i

does not exist




Evaluate lim 225X | jf it exists, s ol dim 1—Cosk Lok aayl

r— xsinx ¥— xsinx

Bagaga b

does not exist
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Find all points at which the tangent Gelaall ladic (9% A B psan asg)
Iinetnﬂﬂucur\rex3+f—2}r=ﬂ .giiixz+y2—2y=ﬂu.hi.ﬂ

is horizontal.

(0,0),(0,-2)
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Find an equation of the line A (5996 aians Alslas sag]
perpendicularto y =3(x-2) +1 Lo pdieall gy y = 3(x—2) + 1
and intersecting the line at the (0,3) dkdlll
point (0,3).

y=-3x+3
k.
y=3x+3
o +3
S :
d.
1




Find the derivative of f(x) = ¢" In x.

fix)=e*+Inx

S(x) = ¥ In x dlida syl




A ball If thrown upwar.d then moves AWall s Ca el 58 8 W
according to the relation Ll ¢ &ua S(t) = 56t — 42

- — 4 isi
S(t) = 56t — 44~ where g is in Juai o (s i) el b 3L S
seconds and § in meters. What is the . 4

maximum height the ball can reach?

168 m

________________________________________________________________




Use the graph shown below to _xl-_la%:!r flx) il alisd Al Jaadl) aisd
determine lirg;r flx).
X—

LFY]

[E¥)

fix)

N

0
1
Blgaga pb

does not exist




If f(x) = x* — 5x then OB f(x) = x* — 5x i 1))

U2 equals: st 1im (0-f(2)
x-2 x=2 = x—2 x-2




If f(x) = I: rand g(x) = x* - 2,

find (g o f)(x) with x = +1.

(gefix)=(x*=1)* -2

1
{Hc‘f?‘“?‘:(xhzjzﬂ

Glx) = 2 —Esﬂx}=r+l=u'ﬁﬁ}
X #F 41 G (g o f)x) gl
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Determine the values of m and n that

make the function

x* —mxr+2

htx}={—x-1 » X% 1
n L o |

continucus at x = 1.

m=-3n=-1

m=-3n=1

M#gﬂ‘ﬂjﬂ]#m
¥*—mux+2
h[x}z{ r—1 v FEA

n , Xx=1

A =1 e dlai,
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. 2 z
Find the derivative of f(x) = S, S(x) = 285 Ginka s

x¢ T

cos x*

f'(x)= ¥

2xcosx
2x

flix)=

, 2x? cos x* + 2xsin x?
fx)= Sk

----------------------------------------------------------------




Find the inverse of the function 3 [x=1
B o S (xX) = [T A Gugsan syl
f(x) = ’-2—
- x—1\>
o =(7)
fx) =22 + 1 f
flla=x*+1
d.
flx)=2x*-1




The function f(x) = /|x— 1]
is defined for all x. Which of the
following statements is true?

Lox = 140 UGN AL by Al f

'f is continuous and not differentiable at x = 1.

x = lde Y& LG f

f is differeantiable at y = 1.

= l.i.ﬂ-il..ah_;.‘i:f

f is not continuous at y = 1.

lim f(x) # 0

x—=1

peaal A f(x) = Jx — 1] L0
Thapea 40T Jall e 5l . a8

------------------------
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Find all solutions of the equation
sin2x — cosx = 0 in the interval
[0,3607].

90°,210°,270°,330°
30°,90°,270°
60°,120,180°

130°,90°,150°,270°

Asleall Jgla 2ias 20
.[0,360°] 53 Asin2x —cosx =0




Find the exponential function of the
form f(x) = ae” that passes

through the points (0,4) and (2,2).

A f(x) = ael §palls L) Bl 2yl
‘(21 2).’ (0' 4) ML‘ )‘a

----------------------------------------------------------------




